oper Mill Creek Culvert Replacement @ SE 264th Street	BIDDER'S		Pivetta Brothers Co	nst	2 Tri-State Construct	tion	Rodarate Construct	tion	Construct Compan	v
D OPENING: April 8, 2008 @ 10:00 a.m.	NAME AND		P.O. BOX 370	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	P.O. BOX 3686		P.O. BOX 1875		1621 Pease Avenu	•
_ oo,o,o	ADDRESS		Sumner, WA 9839	0	Bellevue, WA 9800		Auburn, WA 98071		Sumner, WA 9839	
	TOTAL			\$353,693.01		\$366,065.60		\$436,174.40		\$473,478.56
EM	TOTAL			\$353,673.01 TOTAL		TOTAL		TOTAL		TOTA
D. DESCRIPTION	QUANTITY	UNIT	UNIT PRICE		UNIT PRICE		JNIT PRICE		UNIT PRICE	AMOUN
<u> </u>	23/	0	0	7	0	7		7	0	7
CHEDULE I - STORM										
1000 Mobilization	1	LS	\$14,942.00	\$14,942.00	\$33,000.00	\$33,000.00	\$67,000.00	\$67,000.00	\$50,000.00	\$50,000.00
1005 Remove Cement Concrete Sidewalk	20	SY	\$15.00	\$300.00	\$12.00	\$240.00	\$24.00	\$480.00	\$18.00	\$360.00
1010 Remove Existing 26" HDPE Metro Force Main	35	LF	\$300.00	\$10,500.00	\$375.00	\$13,125.00	\$130.00	\$4,550.00	\$50.00	\$1,750.00
1015 Remove Cement Concrete Curb and Gutter	30	LF	\$9.00	\$270.00	\$6.00	\$180.00	\$15.00	\$450.00	\$19.00	\$570.00
1020 Remove and Relocate Existing Catch Basin or Manhole	1	EA	\$545.00	\$545.00	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00	\$1,700.00	\$1,700.00
1025 Procure & Inst. Corr Alum Box Culvert 12'-7" Span x 5'-2" Rise, 70 LF	1	LS	\$136,736.00	\$136,736.00	\$67,000.00	\$67,000.00	\$70,000.00	\$70,000.00	\$137,000.00	\$137,000.00
1030 *Saw Cut Existing Asphalt Concrete Pavement	80	LF	\$6.00	\$480.00	\$3.00	\$240.00	\$4.00	\$320.00	\$2.00	\$160.00
1035 *Shoring or Extra Excavation Class B	2500	SF	\$1.00	\$2,500.00	\$2.00	\$5,000.00	\$0.50	\$1,250.00	\$6.00	\$15,000.00
1040 Excavate and Support 2 Existing Qwest Buried Conduits	1	LS	\$125.00	\$125.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$6,500.00	\$6,500.00
1045 *Bank Run Gravel for Trench Backfill	900	TONS	\$10.00	\$9,000.00	\$21.00	\$18,900.00	\$25.00	\$22,500.00	\$20.00	\$18,000.00
1050 *Crushed Surfacing Top Course, 5/8" Minus	35	TONS	\$10.00	\$350.00	\$35.00	\$1,225.00	\$45.00	\$1,575.00	\$22.00	\$770.00
1055 *Crushed Surfacing Base Course, 1 1/4" Minus	90	TONS	\$10.00	\$900.00	\$35.00	\$3,150.00	\$30.00	\$2,700.00	\$21.00	\$1,890.00
1060 *HMA Class B, PG 64-22	50	TONS	\$162.00	\$8,100.00	\$115.00	\$5,750.00	\$200.00	\$10,000.00	\$175.00	\$8,750.00
1065 *Cold Plant Mix for Temporary Pavement Patch	25	TONS	\$100.00	\$2,500.00	\$75.00	\$1,875.00	\$125.00	\$3,125.00	\$108.00	\$2,700.00
1070 *Cement Concrete Sidewalk	40	SY	\$50.75	\$2,030.00	\$65.00	\$2,600.00	\$45.00	\$1,800.00	\$55.00	\$2,200.00
1075 *Cement Concrete Curb and Gutter	60	LF	\$25.00	\$1,500.00	\$45.00	\$2,700.00	\$30.00	\$1,800.00	\$31.00	\$1,860.00
1080 Temporary 6' High Chain Link Fence	400	LF	\$5.00	\$2,000.00	\$3.00	\$1,200.00	\$3.50	\$1,400.00	\$4.00	\$1,600.00
1085 Ground Cover Fabric	115	SY	\$6.00	\$690.00	\$3.00	\$345.00	\$4.00	\$460.00	\$2.00	\$230.00
1090 Temporary Bike/Pedestrian Detour	1	LS	\$1,982.00	\$1,982.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000.00
1095 4' High Vinyl Coated Chain Link Fence	90	LF	\$40.00	\$3,600.00	\$25.00	\$2,250.00	\$40.00	\$3,600.00	\$25.00	\$2,250.00
1100 Geosynthetic Clay Liner (GCL)	125	SY	\$3.00	\$375.00	\$2.00	\$250.00	\$6.00	\$750.00	\$2.00	\$250.00
1105 Project Sign	1	EA	\$505.00	\$505.00	\$1,000.00	\$1,000.00	\$750.00	\$750.00	\$600.00	\$600.00
1110 Catch Basin, Type 2, 48" Diameter	1	EA	\$1,730.00	\$1,730.00	\$4,000.00	\$4,000.00	\$2,900.00	\$2,900.00	\$3,500.00	\$3,500.00
1115 Ductile Iron Storm Sewer Pipe, 12" Diamter, CL 50	17	LF	\$35.00	\$595.00	\$90.00	\$1,530.00	\$60.00	\$1,020.00	\$115.00	\$1,955.00
1120 Ductile Iron Storm Sewer Pipe, 18" Diamter, CL 50	27	LF	\$71.00	\$1,917.00	\$100.00	\$2,700.00	\$100.00	\$2,700.00	\$150.00	\$4,050.00
1125 Bolt-Down Catch Basin Frame and Solid Locking Cover	1	EA	\$254.00	\$254.00	\$500.00	\$500.00	\$250.00	\$250.00	\$250.00	\$250.00
1130 *Sod Installation	35	SY	\$12.00	\$420.00	\$8.00	\$280.00	\$25.00	\$875.00	\$10.00	\$350.00
1135 Silt Fence	170	LF	\$7.00	\$1,190.00	\$4.00	\$680.00	\$6.00	\$1,020.00	\$4.00	\$680.00
1140 Straw Bale Ditch Sediment Dam	2	EA	\$171.00	\$342.00	\$500.00	\$1,000.00	\$300.00	\$600.00	\$175.00	\$350.00
1145 Street Cleaning	80	HRS	\$25.00	\$2,000.00	\$115.00	\$9,200.00	\$100.00	\$8,000.00	\$120.00	\$9,600.00
1150 Channel Rock Band	15	TONS	\$50.00	\$750.00	\$100.00	\$1,500.00	\$160.00	\$2,400.00	\$100.00	\$1,500.00
1155 Culvert Rock Band	6	TONS	\$50.00	\$300.00	\$115.00	\$690.00	\$450.00	\$2,700.00	\$200.00	\$1,200.00
1160 *Foundation Material, Class I and II	15	TONS	\$10.00	\$150.00	\$35.00	\$525.00	\$50.00	\$750.00	\$22.00	\$330.00
1165 *Pipe Zone Bedding	25	TON	\$10.00	\$250.00	\$35.00	\$875.00	\$14.00	\$350.00	\$23.00	\$575.00
1170 Hand Applied Straw Mulch	140	SY	\$2.00	\$280.00	\$3.00	\$420.00	\$2.00	\$280.00	\$3.00	\$420.00
1175 12"-18" Round Boulders for Box Culvert	15	TONS	\$51.00	\$765.00	\$100.00	\$1,500.00	\$450.00	\$6,750.00	\$125.00	\$1,875.00
1180 *Topsoil, Type A	10	CY	\$60.00	\$600.00	\$45.00	\$450.00	\$65.00	\$650.00	\$25.00	\$250.00
1185 Streambed Gravel	70	TONS	\$51.00	\$3,570.00	\$55.00	\$3,850.00	\$65.00	\$4,550.00	\$34.00	\$2,380.00

ITY OF KENT			1		2		3		4	
pper Mill Creek Culvert Replacement @ SE 264th Street	BIDDER'S		Pivetta Brothers Co	onst.	Tri-State Construct	tion	Rodarate Construc	tion	Construct Compan	-
ID OPENING: April 8, 2008 @ 10:00 a.m.	NAME AND		P.O. BOX 370	0	P.O. BOX 3686	20	P.O. BOX 1875		1621 Pease Avenu	
	ADDRESS		Sumner, WA 9839	0	Bellevue, WA 9800	09	Auburn, WA 98071		Sumner, WA 9839	0
	TOTAL			\$353,693.01		\$366,065.60		\$436,174.40		\$473,478.56
ГЕМ				TOTAL		TOTAL		TOTAL		TOTA
O. DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN
1190 Traffic Control Labor	320	HRS	\$32.00	\$10,240.00	\$38.50	\$12,320.00	\$41.00	\$13,120.00	\$42.00	\$13,440.00
1195 Constuction Signs Class A	200	SF	\$23.00	\$4,600.00	\$20.00	\$4,000.00	\$18.00	\$3,600.00	\$8.00	\$1,600.00
1200 Traffic Control Supervisor	120	HRS	\$32.00	\$3,840.00	\$40.00	\$4,800.00	\$41.00	\$4,920.00	\$42.00	\$5,040.00
1205 Temporary Traffic Control Devices	1	LS	\$2,768.00	\$2,768.00	\$5,000.00	\$5,000.00	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00
1207 Portable Changeable Message Sign (PCMS)	14	DAY	\$96.00	\$1,344.00	\$150.00	\$2,100.00	\$125.00	\$1,750.00	\$190.00	\$2,660.00
1210 Type III Barricade	6	EA	\$319.00	\$1,914.00	\$250.00	\$1,500.00	\$200.00	\$1,200.00	\$500.00	\$3,000.00
1215 *Inlet Protection	2	EA	\$90.00	\$180.00	\$100.00	\$200.00	\$100.00	\$200.00	\$48.00	\$96.00
1220 Dewatering System	_ 1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
1225 Stormwater Tanker Truck	1	FA	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
1230 Temporary Creek Bypass	1	LS	\$6,500.00	\$6,500.00	\$20,000.00	\$20,000.00	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00
1235 Supplemental Creek Bypass Pumping	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
1240 Controlled Density Fill	25	CY	\$213.00	\$5,325.00	\$110.00	\$2,750.00	\$300.00	\$7,500.00	\$87.00	\$2,175.00
1245 Rock for Rock Wall	40	TONS	\$150.00	\$6,000.00	\$75.00	\$3,000.00	\$145.00	\$5,800.00	\$120.00	\$4,800.00
Schedule I				\$275,754.00		\$272,000.00		\$333,095.00		\$368,216.00
9.0.% Sales Tax				\$24,817.86		\$24,480.00		\$29,978.55		\$33,139.44
Total Schedule I				\$300,571.86		\$296,480.00		\$363,073.55		\$401,355.44
chedule II-Water										
2000 10" Connection to Existing Water Main	2	EA	\$957.00	\$1,914.00	\$2,000.00	\$4,000.00	\$3,400.00	\$6,800.00	\$800.00	\$1,600.00
2005 10" Diameter Ductile Iron, CL 52 Water Main Pipe	220	LF	\$49.00	\$10,780.00	\$65.00	\$14,300.00	\$70.00	\$15,400.00	\$95.00	\$20,900.00
2010 10" Gate Valve, MJ x FL or MJ x MJ or FL x FL	2	EA	\$2,005.00	\$4,010.00	\$2,000.00	\$4,000.00	\$1,500.00	\$3,000.00	\$1,400.00	\$2,800.00
2015 18" O.D., 0.25" Thick Steel Casing Pipe	33	LF	\$174.00	\$5,742.00	\$160.00	\$5,280.00	\$200.00	\$6,600.00	\$100.00	\$3,300.00
2020 *Shoring or Extra Excavation Class B	900	SF	\$1.00	\$900.00	\$2.00	\$1,800.00	\$0.50	\$450.00	\$6.00	\$5,400.00
2025 *Saw Cut Existing Asphalt Pavement	225	LF	\$6.00	\$1,350.00	\$3.00	\$675.00	\$4.00	\$900.00	\$2.00	\$450.00
2030 *Foundation Material, Class I and II for Water Main	60	TONS	\$10.00	\$600.00	\$35.00	\$2,100.00	\$50.00	\$3,000.00	\$22.00	\$1,320.00
2035 *Pipe Zone Bedding for Water Main	85	TONS	\$10.00	\$850.00	\$35.00	\$2,975.00	\$14.00	\$1,190.00	\$23.00	\$1,955.00
2040 *Bank Run Gravel for Trench Backfill for Water Main	130	TONS	\$10.00	\$1,300.00	\$21.00	\$2,730.00	\$25.00	\$3,250.00	\$20.00	\$2,600.00
2045 2" Air Release Valve with Chamber	1	EA	\$4,447.00	\$4,447.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$3,600.00	\$3,600.00
2050 Abandon Existing 10" Diameter Water Main	1	LS	\$482.00	\$482.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$1,800.00	\$1,800.00
2055 *Inlet Protection	1	EA	\$90.00	\$90.00	\$100.00	\$100.00	\$100.00	\$100.00	\$48.00	\$48.00
2060 *HMA Class 3/4" PG 64-22 for Water Main	40	TONS	\$162.00	\$6,480.00	\$115.00	\$4,600.00	\$200.00	\$8,000.00	\$175.00	\$7,000.00
2065 *Crushed Surfacing Top Course, 5/8" Minus for Water Main	25	TONS	\$10.00	\$250.00	\$35.00	\$875.00	\$45.00	\$1,125.00	\$22.00	\$550.00
2070 *Crushed Surfacing Base Course, 1 1/4" Minus for Water Main	70	TONS	\$10.00	\$700.00	\$35.00	\$2,450.00	\$30.00	\$2,100.00	\$21.00	\$1,470.00
2075 *Cold Plant Mix for Temporary Pavement Patch for Water Main	20	TONS	\$100.00	\$2,000.00	\$75.00	\$1,500.00	\$125.00	\$2,500.00	\$108.00	\$2,160.00
Schedule II				\$41,895.00		\$54,385.00		\$58,915.00		\$56,953.00
9.0% Sales Tax				\$3,770.55		\$4,894.65		\$5,302.35		\$5,125.77
Total Schedule II				\$45,665.55		\$59,279.65		\$64,217.35	1	\$62,078.77

CITY OF KENT			1		2		ا ء	i	4	
Upper Mill Creek Culvert Replacement @ SE 264th Street	NAME AND		P.O. BOX 370		Z Tri-State Construction	nn	Rodarate Construction P.O. BOX 1875		Construct Company 1621 Pease Avenue	
BID OPENING: April 8, 2008 @ 10:00 a.m.					P.O. BOX 3686	511				
BIB OF ENTITIO, April 0, 2000 C. 10.00 d.m.					Bellevue, WA 98009		Auburn, WA 98071		ımner, WA 98390	
	7.551.200				2011014107 1111 7000	,	7.454, 77, 7667.			
	TOTAL			\$353,693.01		\$366,065.60		\$436,174.40		\$473,478.56
ITEM				TOTAL		TOTAL	-	TOTAL		TOTA
NO. DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT UI	NIT PRICE	AMOUN
Schedule III - Street (North Side)										
3000 *Cement Concrete Sidewalk	60	SY	\$50.75	\$3,045.00	\$65.00	\$3,900.00	\$45.00	\$2,700.00	\$55.00	\$3,300.00
3005 *Cement Concrete Curb and Gutter	95	LF	\$25.00	\$2,375.00	\$45.00	\$4,275.00	\$30.00	\$2,850.00	\$51.00	\$4,845.00
3010 *Crushed Surfacing Top Course, 5/8" Minus	10	TONS	\$10.00	\$100.00	\$35.00	\$350.00	\$45.00	\$450.00	\$22.00	\$220.00
3015 *Topsoil, Type A	10	CY	\$60.00	\$600.00	\$45.00	\$450.00	\$65.00	\$650.00	\$25.00	\$250.00
3020 *Sod Installation	60	SY	\$12.00	\$720.00	\$8.00	\$480.00	\$25.00	\$1,500.00	\$10.00	\$600.00
Schedule III				\$6,840.00		\$9,455.00		\$8,150.00		\$9,215.00
9.0% Sales Tax				\$615.60		\$850.95		\$733.50		\$829.35
Total Schedule III				\$7,455.60		\$10,305.95		\$8,883.50		\$10,044.35
COST SUMMARY										
Schedule I - STORM				\$300,571.86		\$296,480.00		\$363,073.55		\$401,355.44
Schedule II - WATER				\$45,665.55		\$59,279.65		\$64,217.35		\$62,078.77
Schedule III - STREET NORTH SIDE				\$7,455.60		\$10,305.95		\$8,883.50		\$10,044.35
CONSTRUCTION CONTRACT TOTAL				\$353,693.01		\$366,065.60		\$436,174.40		\$473,478.56
GRAND TOTAL				\$353,693.01		\$366,065.60		\$436,174.40		\$473,478.56

pper Mill Creek Culvert Replacement @ SE 264th Street	Road Construction	Northwest	Johnansen Excava	tina	Joe Fielding	
ID OPENING: April 8, 2008 @ 10:00 a.m.	P.O. BOX 188		P.O. BOX 674	9	500 : :0: <b>u</b> g	
	Renton, WA 9805	5	Buckley, WA 9832	11		
		\$492,272.34		\$522,556.90		\$438,954.45
EM		TOTAL		TOTAL		TOTAL
O. DESCRIPTION	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN
CHEDULE I - STORM						
1000 Mobilization	\$52,213.75	\$52,213.75	\$52,000.00	\$52,000.00	\$34,000.00	\$34,000.00
1005 Remove Cement Concrete Sidewalk	\$12.25	\$245.00	\$20.00	\$400.00	\$19.00	\$380.00
1010 Remove Existing 26" HDPE Metro Force Main	\$65.00	\$2,275.00	\$100.00	\$3,500.00	\$95.00	\$3,325.00
1015 Remove Cement Concrete Curb and Gutter	\$6.75	\$202.50	\$6.00	\$180.00	\$10.00	\$300.00
1020 Remove and Relocate Existing Catch Basin or Manhole	\$1,890.00	\$1,890.00	\$4,500.00	\$4,500.00	\$1,200.00	\$1,200.00
1025 Procure & Inst. Corr Alum Box Culvert 12'-7" Span x 5'-2"	·	\$131,100.00	\$150,000.00	\$150,000.00	\$110,000.00	\$110,000.00
1030 *Saw Cut Existing Asphalt Concrete Pavement	\$2.80	\$224.00	\$5.00	\$400.00	\$6.60	\$528.00
1035 *Shoring or Extra Excavation Class B	\$2.00	\$5,000.00	\$4.00	\$10,000.00	\$2.50	\$6,250.00
1040 Excavate and Support 2 Existing Qwest Buried Conduits	\$1,850.00	\$1,850.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00
1045 *Bank Run Gravel for Trench Backfill	\$15.00	\$13,500.00	\$17.00	\$15,300.00	\$17.50	\$15,750.00
1050 *Crushed Surfacing Top Course, 5/8" Minus	\$44.00	\$1,540.00	\$30.00	\$1,050.00	\$27.00	\$945.00
1055 *Crushed Surfacing Base Course, 1 1/4" Minus	\$44.00	\$3,960.00	\$28.00	\$2,520.00	\$32.00	\$2,880.00
1060 *HMA Class B, PG 64-22	\$154.25	\$7,712.50	\$200.00	\$10,000.00	\$200.00	\$10,000.00
1065 *Cold Plant Mix for Temporary Pavement Patch	\$260.00	\$6,500.00	\$80.00	\$2,000.00	\$125.00	\$3,125.00
1070 *Cement Concrete Sidewalk	\$63.00	\$2,520.00	\$75.00	\$3,000.00	\$80.00	\$3,200.00
1075 *Cement Concrete Curb and Gutter	\$40.00	\$2,400.00	\$35.00	\$2,100.00	\$42.00	\$2,520.00
1080 Temporary 6' High Chain Link Fence	\$2.80	\$1,120.00	\$10.00	\$4,000.00	\$7.00	\$2,800.00
1085 Ground Cover Fabric	\$4.00	\$460.00	\$4.00	\$460.00	\$5.00	\$575.00
1090 Temporary Bike/Pedestrian Detour	\$7,000.00	\$7,000.00	\$5,500.00	\$5,500.00	\$8,500.00	\$8,500.00
1095 4' High Vinyl Coated Chain Link Fence	\$46.00	\$4,140.00	\$40.00	\$3,600.00	\$12.00	\$1,080.00
1100 Geosynthetic Clay Liner (GCL)	\$3.75	\$468.75	\$5.00	\$625.00	\$10.00	\$1,250.00
1105 Project Sign	\$1,000.00	\$1,000.00	\$750.00	\$750.00	\$550.00	\$550.00
1110 Catch Basin, Type 2, 48" Diameter	\$3,300.00	\$3,300.00	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00
1115 Ductile Iron Storm Sewer Pipe, 12" Diamter, CL 50	\$94.00	\$1,598.00	\$65.00	\$1,105.00	\$125.00	\$2,125.00
1120 Ductile Iron Storm Sewer Pipe, 18" Diamter, CL 50	\$148.00	\$3,996.00	\$85.00	\$2,295.00	\$150.00	\$4,050.00
1125 Bolt-Down Catch Basin Frame and Solid Locking Cover	\$765.00	\$765.00	\$500.00	\$500.00	\$500.00	\$500.00
1130 *Sod Installation	\$12.60	\$441.00	\$15.00	\$525.00	\$12.50	\$437.50
1135 Silt Fence	\$7.00	\$1,190.00	\$5.00	\$850.00	\$7.50	\$1,275.00
1140 Straw Bale Ditch Sediment Dam	\$430.00	\$860.00	\$1,800.00	\$3,600.00	\$400.00	\$800.00
1145 Street Cleaning	\$145.00	\$11,600.00	\$110.00	\$8,800.00	\$125.00	\$10,000.00
1150 Channel Rock Band	\$83.00	\$1,245.00	\$80.00	\$1,200.00	\$110.00	\$1,650.00
1155 Culvert Rock Band	\$96.00	\$576.00	\$100.00	\$600.00	\$110.00	\$660.00
1160 *Foundation Material, Class I and II	\$18.00	\$270.00	\$30.00	\$450.00	\$120.00	\$1,800.00
1165 *Pipe Zone Bedding	\$18.00	\$450.00	\$30.00	\$750.00	\$34.00	\$850.00
1170 Hand Applied Straw Mulch	\$4.00	\$560.00	\$3.00	\$420.00	\$4.00	\$560.00
1175 12"-18" Round Boulders for Box Culvert	\$83.00	\$1,245.00	\$125.00	\$1,875.00	\$140.00	\$2,100.00
1180 *Topsoil, Type A	\$70.00	\$700.00	\$50.00	\$500.00	\$60.00	\$600.00
1185 Streambed Gravel	\$81.25	\$5,687.50	\$50.00	\$3,500.00	\$60.00	\$4,200.00

TY OF KENT	5		6			
pper Mill Creek Culvert Replacement @ SE 264th Street	Road Construction	Northwest	Johnansen Excava	ting	Joe Fielding	
D OPENING: April 8, 2008 @ 10:00 a.m.	P.O. BOX 188		P.O. BOX 674			
	Renton, WA 9805	5	Buckley, WA 9832	21		
		\$492,272.34		\$522,556.90		\$438,954.45
EM		TOTAL	-	TOTAL		TOTAL
D. DESCRIPTION	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1190 Traffic Control Labor	\$44.00	\$14,080.00	\$42.00	\$13,440.00	\$40.00	\$12,800.00
1195 Constuction Signs Class A	\$24.00	\$4,800.00	\$5.00	\$1,000.00	\$22.00	\$4,400.00
1200 Traffic Control Supervisor	\$60.00	\$7,200.00	\$45.00	\$5,400.00	\$50.00	\$6,000.00
1205 Temporary Traffic Control Devices	\$10,600.00	\$10,600.00	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00
1207 Portable Changeable Message Sign (PCMS)	\$155.00	\$2,170.00	\$150.00	\$2,100.00	\$140.00	\$1,960.00
1210 Type III Barricade	\$250.00	\$1,500.00	\$300.00	\$1,800.00	\$400.00	\$2,400.00
1215 *Inlet Protection	\$100.00	\$200.00	\$90.00	\$180.00	\$125.00	\$250.00
1220 Dewatering System	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
1225 Stormwater Tanker Truck	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
1230 Temporary Creek Bypass	\$25,300.00	\$25,300.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00
1235 Supplemental Creek Bypass Pumping	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
1240 Controlled Density Fill	\$165.00	\$4,125.00	\$115.00	\$2,875.00	\$125.00	\$3,125.00
1245 Rock for Rock Wall	\$275.00	\$11,000.00	\$125.00	\$5,000.00	\$150.00	\$6,000.00
Schedule I		\$380,780.00		\$412,650.00		\$329,700.50
9.0.% Sales Tax		\$34,270.20		\$37,138.50		\$29,673.05
Total Schedule I		\$415,050.20		\$449,788.50		\$359,373.55
nedule II-Water						
2000 10" Connection to Existing Water Main	\$1,800.00	\$3,600.00	\$3,000.00	\$6,000.00	\$3,200.00	\$6,400.00
2005 10" Diameter Ductile Iron, CL 52 Water Main Pipe	\$84.00	\$18,480.00	\$55.00	\$12,100.00	\$84.00	\$18,480.00
2010 10" Gate Valve, MJ x FL or MJ x MJ or FL x FL	\$1,650.00	\$3,300.00	\$1,600.00	\$3,200.00	\$1,200.00	\$2,400.00
2015 18" O.D., 0.25" Thick Steel Casing Pipe	\$150.00	\$4,950.00	\$150.00	\$4,950.00	\$160.00	\$5,280.00
2020 *Shoring or Extra Excavation Class B	\$2.00	\$1,800.00	\$4.00	\$3,600.00	\$2.50	\$2,250.00
2025 *Saw Cut Existing Asphalt Pavement	\$2.80	\$630.00	\$5.00	\$1,125.00	\$6.60	\$1,485.00
2030 *Foundation Material, Class I and II for Water Main	\$18.00	\$1,080.00	\$30.00	\$1,800.00	\$60.00	\$3,600.00
2035 *Pipe Zone Bedding for Water Main	\$18.00	\$1,530.00	\$30.00	\$2,550.00	\$34.00	\$2,890.00
2040 *Bank Run Gravel for Trench Backfill for Water Main	\$15.00	\$1,950.00	\$17.00	\$2,210.00	\$17.50	\$2,275.00
2045 2" Air Release Valve with Chamber	\$4,300.00	\$4,300.00	\$3,800.00	\$3,800.00	\$2,000.00	\$2,000.00
2050 Abandon Existing 10" Diameter Water Main	\$4,100.00	\$4,100.00	\$3,500.00	\$3,500.00	\$2,000.00	\$2,000.00
2055 *Inlet Protection	\$100.00	\$100.00	\$90.00	\$90.00	\$125.00	\$125.00
2060 *HMA Class 3/4" PG 64-22 for Water Main	\$154.25	\$6,170.00	\$200.00	\$8,000.00	\$200.00	\$8,000.00
2065 *Crushed Surfacing Top Course, 5/8" Minus for Water Mai	n \$44.00	\$1,100.00	\$30.00	\$750.00	\$27.00	\$675.00
2070 *Crushed Surfacing Base Course, 1 1/4" Minus for Water	Main \$44.00	\$3,080.00	\$28.00	\$1,960.00	\$32.00	\$2,240.00
2075 *Cold Plant Mix for Temporary Pavement Patch for Water	Main \$260.00	\$5,200.00	\$80.00	\$1,600.00	\$125.00	\$2,500.00
Schedule II		\$61,370.00		\$57,235.00		\$62,600.00
9.0% Sales Tax		\$5,523.30		\$5,151.15		\$5,634.00
Total Schedule II		\$66,893.30		\$62,386.15		\$68,234.00

CITY OF KENT	5		6			
Upper Mill Creek Culvert Replacement @ SE 264th Street	Road Construction	Northwest	Johnansen Excavati	ng	Joe Fielding	
BID OPENING: April 8, 2008 @ 10:00 a.m.	P.O. BOX 188	P.O. BOX 674				
	Renton, WA 98055		Buckley, WA 9832	1		
		\$492,272.34		\$522,556.90		\$438,954.45
ITEM		TOTAL		TOTAL		TOTAL
NO. DESCRIPTION	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
Schedule III - Street (North Side)						
3000 *Cement Concrete Sidewalk	\$63.00	\$3,780.00	\$75.00	\$4,500.00	\$80.00	\$4,800.00
3005 *Cement Concrete Curb and Gutter	\$40.00	\$3,800.00	\$35.00	\$3,325.00	\$42.00	\$3,990.00
3010 *Crushed Surfacing Top Course, 5/8" Minus	\$44.00	\$440.00	\$30.00	\$300.00	\$27.00	\$270.00
3015 *Topsoil, Type A	\$70.00	\$700.00	\$50.00	\$500.00	\$60.00	\$600.00
3020 *Sod Installation	\$12.60	\$756.00	\$15.00	\$900.00	\$12.50	\$750.00
Schedule III		\$9,476.00		\$9,525.00		\$10,410.00
9.0% Sales Tax		\$852.84		\$857.25		\$936.90
Total Schedule III		\$10,328.84		\$10,382.25		\$11,346.90
COST SUMMARY						
Schedule I - STORM		\$415,050.20		\$449,788.50		\$359,373.55
Schedule II - WATER		\$66,893.30		\$62,386.15		\$68,234.00
Schedule III - STREET NORTH SIDE		\$10,328.84		\$10,382.25		\$11,346.90
CONSTRUCTION CONTRACT TOTAL		\$492,272.34		\$522,556.90		\$438,954.45
GRAND TOTAL		\$492,272.34		\$522,556.90		\$438,954.45